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program heatl

implicit none

integer, parameter :: m=50
ooooooo P
SR real(DP) :: h, heat=1.0_DP
allocate(u(0:m+1,0:m+1))
allocate(un(m,m))
h=1.0_DP/m

if (mod(n,100)==0) print *, n, u(m/2,m/2)
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when m = 6
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integer, parameter :: m=50
h=1.0_DP/m

if (mod(n,100)==0) print *, n, u(m/2,m/2)
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integer, parameter :: m=50 ! => mUO 00000 0O0O0O
oono
h=1.0_DP/m I => h=1.0_DP/(m+1)
if (mod(n,100)==0) print *, n, u(m/2,m/2)
' => . .u(m/2+1,m/2+1) 000
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do n=1, nmax

do j=1, m
do i=1, m
Sk un(i,j)=C(u(i-1,j)+u(i+1,j) &
aeann +u(i,j-1)+u(i,j+1))/4.0_DP &
+heat*h*h
end do
end do
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module ut

use constants
implicit none

contains

ooooooo H i H
Coooon subroutine ut__assert(condition, last_will)

SR logical, intent(in) :: condition
character(len=%*), intent(in) :: last_will

if (.not.condition ) then
stop last_will ! print out the last_will and die.
end if
end subroutine ut__assert
end module ut
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subroutine cpu_time(time)
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heat6/main.f90

oooooo .
program main

implicit none

integer :: loop ;call stopw
;call stopw
call ut__assert(mod(NGRID,2)==1, &
SRR "NGRID must be odd to have a grid on the cente
R call parallel__initialize
call temperature__initialize
call temperature__print_center(0) ;call stopw
do loop = 1 , LOOP_MAX
call temperature__update ;call stopw
call temperature__print_center(loop) ;call stopw
end do ;call stopw

call temperature__finalize
call parallel finalize :call stopw
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